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* Z- XY O =uvw Converter
L
Injtial #0
|+ foaL |
LI ZHSR
CR2002 CURRENT_X ~ CURRENT_Y  CURRENT_deg TRIGGER MODE_Abs
= LDA.L LDA.L LDA.L ( seT ) ( seT )
HHFON TRG. MODE.
BE fextE=
DESTINA_X ~ DESTINA_Y DESTINA_deg RELATIV_X  RELATIV_Y RELATIV_deg
LDA.L LDA.L LDA.L LDA.L LDA.L LDA.L
CR2002 ANSWER_u ANSWER_v ANSWER_w
| LDA. DF LDA. DF LDA. DF
HFFON
RELATIVE_u RELATIVE_v RELATIVE w
LDA L LDA L LDA L

r STP
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| BEEEEN IR TR 515 &3 [MRO0T (MODE_Abs) JZ TIZL TTF &L,
L ORMEFuwWE B DENBHETY .

if MROOT then
BEEEREENSA
A EEAR (?§§JJE) = fExtEEAR (?§§JJ5*E) - BEER
RELATIV_X = DESTINA_X - CURRE

RELATIV.Y = DESTINA Y - CURRENT?Y
RELATIV_deg = DESTINA deg - CURRENT deg
else
BHEEENHE
R EEAR (?5%5’&) = HXER (%ﬁg) + BT EAR
DESTINA_X ELATIV_X  + CURREN
DESTINALY = RELATIV Y+ CURRENT_Y
DESTINA_deg = RELATIV_deg + CURRENT deg
end if
' BEE
REL_X = RELATIV_X
REL_Y = RELATIV_Y
REL X = REL X / DecPntl
REL.Y = RELY / DecPntl
| IRTE AR
ABS_X = CURRENT_X

ABSY = CURRENT Y

ABS_deg CURRENT _deg

ABS_ X = ABS X / DecPntl

ABS_Y = ABS_Y / DecPntl

ABS_deg = ABS_deg * 2 * Pi / ( DecPnt2 * 360 )

| SEAILEIR

DESTINA_rad = DESTINA deg * 2 * Pi / ( DecPnt2 * 360 ) " #BEEAE Radian
PAINT_Aqua = TAN ( DESTINA_rad ) -
PAINT_Green = SIN ( DESTINA_rad ) * PAINT_Aqua + COS ( DESTINA_rad ) " RwEeRyY

PAINT Yelow = SIN ( ABS_deg ) * TAN ( ABS_deg ) + COS ( ABS deg ) T EAEY

L ov/wEg B

PAINT Blue = AXIS_bt + ABS_Y EaEY
PAINT_Red = AXIS_bt + ABS_Y + REL_Y " RBEY

L

FRAME_Red = Pin_Ux - AXIS_at LSRR

FRAME Blue = AXIS_bt + ABS_Y - Pin_Uy C B

TEMP_u FRAME_Red * PAINT Green + ( FRAME Blue + REL_Y ) * PAINT Aqua + AXIS_at + ABS X + REL_X - Pin_Ux

ANSWER_u

if ( ANSWER_u > 0 ) then
ROUND_u = +0.5 / DecPntl
else
ROUND_u = -0.5 / DecPntl
end if

RELATIVE_u = ( ANSWER_u + ROUND_u ) * DecPntl

TEMP_u - ( FRAME_Red * PAINT Yelow + FRAME_Blue * TAN ( ABS_deg ) + AXIS_at + ABS_X - Pin_Ux )

' VER
FRAME_Red Pin_Vy - AXIS_bt

¥
;

EM%#

+e

FRAME_Blue Pin_Vx - AXIS_at - ABS_X
TEMP_v = FRAME_Red * PAINT Green + ( FRAME_Blue - REL_X ) * PAINT_Aqua + PAINT_Red - Pin_Vy
ANSWER_v = TEMP_v - ( FRAME_Red * PAINT_Yelow + FRAME_Blue * TAN ( ABS_deg ) + PAINT_Blue — Pin_Vy )

if ( ANSWER_v > 0 ) then
ROUND_v = +0.5 / DecPntl

else
ROUND_v

-0.5 / DecPntl
end if

RELATIVE_v = ( ANSWER_v + ROUND_v ) * DecPnt1

| wEh
FRAME_Red
FRAME_Blue

= Pin_Wy - AXIS_bt
= Pin_Wx - AXIS_at - ABS_X
TEMP. w =
ANSWER_w =
if ( ANSWER w > 0 ) then
ROUND_w = +0.5 / DecPntl
else
ROUND_w = -0.5 / DecPntl
end if

RELATIVE_w = ( ANSWER_w + ROUND_w ) * DecPnt1

it

FRAME_Red * PAINT Green + ( FRAME_Blue — REL_X ) * PAINT_Aqua + PAINT_Red - Pin_Wy
TEMP_w - ( FRAME_Red * PAINT Yelow + FRAME_Blue * TAN ( ABS_deg ) + PAINT_Blue - Pin_Wy )
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| REEEZERH

CURRENT_X = DESTINA X

CURRENT_Y = DESTINA_Y
CURRENT _deg = DESTINA deg

(55 —X]
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CR‘ZO‘OZ TRIGGER
1 7
HBFON TRG.
EE
- STE
— END
cInitial
— SBN
#0 H
B AEE CEERANIER
CINBLRELE
CR2002 DecPnt1 DecPnt2
|| LDA.L LDA.L
HEFON
cuvw & E D EEAE /B B il EEAE
CR2002 Pin_Ux Pin_Uy Pin_Vx Pin_Vy Pin_Wx Pin_Wy
} } LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF
HEFON
AXIS_at AXIS_bt
LDA. DF LDA. DF
CREEZ (REE/MEAXEE
CR2002 ABS_X ABS_Y ABS_de% REL_X REL_Y REL_de%
} } LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF
HEON
CHEIE
CR2002 DESTINA_rad PAINT_Aqua PAINT_Green PAINT_Yelow PAINT_Blue PAINT_Red
} } LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF
HEFON
FRAME_Red  FRAME_Blue
LDA. DF LDA. DF
. Temporary
CR2002 TEMP_u TEMP_v TEMP_w ROUND_u ROUND_v ROUND_w
} } LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF LDA. DF
HEFON
ANSWER_u ANSWER_v ANSWER_w
LDA. DF LDA. DF LDA. DF

B XERARE

X 5)RRE 100nm (0. 1 ¢ m) THEZE (0. 0001mm : /NG R LLTF 4 #1)
BlzIE T& [Ux] (£67. 5mm#izd T (+675000) & $55E

N RALE
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CR‘20‘02 #4 DecPnt]

DecPnt2
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STA.L

|| LDA STA.L
HEFON

CEE EUERE

CR‘20‘02 +675000 Ux

(HEPHAISTERIREREAE & U)

-590000

Uy

LDA. L

STA.L

|| LDA.L STA.L

HFFON

-590000 Vx
LDA. L STA.L

+675000

Vy

LDA. L

STA.L

+590000 Wx
LDA. L STA.L

+675000

Wy

LDA. L

STA.L

e (HEPHAISTHR#KERBAE &6 £ Y)
CR‘ZO‘OZ +100000 MECHA_at

+200000

MECHA_bt

LDA. L

STA.L

|| LDA.L STA.L
HEFON

. EEAZZEHa Parameter

rem EREERE/NEREE BRER

DecPnt1 = 10 ~ DecPntl
DecPnt2 = 10 ~ DecPnt2

= " X/NNDIN R GLE
= " AEONEAE
P RTIVFAI—HADEVEE

Pin_Ux
Pin_Uy
Pin_Vx
Pin_Vy = Vy

Pin_Wx = Wx

Pin_Wy = Wy

N RSB

Pin_Ux = Pin_Ux / DecPntl
Pin_Uy = Pin_Uy / DecPntl
Pin_Vx = Pin_Vx / DecPntl
Pin_Vy = Pin_Vy / DecPntl
Pin_Wx = Pin_Wx / DecPntl
Pin_Wy = Pin_Wy / DecPntl

| EE DR
' Ty

AXIS_at = MECHA at

AXIS_bt = MECHA bt
N E R

AXIS_at = AXIS_at / DecPntl
AXIS_bt = AXIS_bt / DecPnti

Ux
Uy
Vx

CREERE (RO
CR‘ZO‘OZ +0 CURRENT_X

CURRENT_Y  CURRENT_deg

STA.L

|| LDA.L STA.L STA.L

HFFON

CR‘ZO‘OZ

HFFON

O=

r RET
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